Geometry - Unit 7 Review
Using the grid, identify which quadrilaterals satisfy the following properties:

Property |Paraallel- | Rectangle | Rhombus | Square | Trapezoid | Kite

5 XA
Both pairs of

opposite sides - o v
are llel v’
parallel.

The diagonals
bisect each v’ g " "

other.

Opposite angles ./
are congruent, v " . |

Only one pair of
parallel sides. —

Two pair of
adjacent v
congruent sides.

The diagonals

are \/

perpendicular

Opposite sides
are congruent. . r

< S

All four sides o
are congruent.

All four angles
are right angles. ‘/

Each diagonal ‘ :
bisects a pair of v
opposite angles.

\\\R

The diagonals v
are congruent.

Consecutive
angles are o
supplementary. v v

\




For the following problems, use the associated figure fo answer questions about gy
quadrilateral.

PQRS is a parallelogram. Find the unknown measure(s).

6. If ms2=25 and ms9=48", then msspo= _{0] <pQ o PSR are
MLL = e € vecamie . mkemor angics '

adyocent, so ‘W“’/ﬂ
oddk wp to \ED
O wespQ = 1%0-13

2 med +med = mtd +meg = 13

7.If PQ=7x-3and SR=5x+5, then PQ=_25
TeBe SEES oo, 143
2x=8
X =4
8. If ST = 8, then SQ=_L(_0_
Sf-% ol Th=5 so $5@.7F

(o] o
9. Tf muPSR=75, then mePor= _1G° , msors=_l0S
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For the following problems, use the associated figure to answer question out

quadrilateral.

PQRS is a parallelogram. Find the unknown measure(s).

=25° =48° = 79
6. If ms2=25 and ms9=48 , then mzspo= _l0 <pa o PSE are

ML = M€ becamie ook ko ang|\es
o\d')o\cenf,so -Hnej

© M +mca = wmd Fmeg = 13 0dd wp to (O
O weser = 1%0-13
7.Tf PQ=7x-3and SR=5x+5,then PQ= _25 _
X3 = Sx xS pg s (4)-3

2x=8

X =4
8.If ST=8,then 5Q=_1lo_

ST=% and TQ=8 so €5Q =1

9. If ms/PSR=75", then ms/POR= 1S°  msors=_10S°
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RSTU is a rectangle. Find the

R s
unknown measure(s). 8 2%
v
10 ><5
2
1 Py
U T
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10. If ms1=9x-3 and ms3=7x+5, then ms3 = _33% diagona s ave = 5O

Iy-3=T1x+5 me3=D¥5 mey form @ isosceles
7x=86  x=¢ Ds, so ase Ls awe

11. IfRV=4x+1and RT=10x-2  thenRT=__ & ‘
RV = Ux r en VT = Ux 4l gx +2= 10x-2 (=
pavt +  pavt:= whole _//////) 2 et =100

R

Hx +' +4x +L = [Ox-2L 2=X =202
12. If msli=11x+4 and ms7=6x+1, then m47=__3L_ =8
MLT= Mol (AR intevior angles) xtdroxal =490
m QL Fmct =407 because vectangle o 17y +S =40
ML’,:(O(.S)J" = 304\ = 3) VX = 4.9

13. If ms4=54,then mes=_12°  and m42=_)Q‘§;_N:§
AR W\L’Z*\-mlr’a’m

m(3 = Q0 -SH
. _ oy _ no\es 2as
- 3u so MLl = 3w Zo + XX 2L = I¥0 na\a\gu a \inéar

(72 =10¥% :
JKLM is a rhombus. Find the unknown measure(s). & P so \‘GD;_\OY ;
wals £5.

14, If MN=6x-5and NK=4x+1,

then MK=_1o -~ (375
Ox-5 =Ux I A3 =3
IX=W (2 ¥13=20
15. If msi0=7x-8, then x= _\Y
IX-g =40
AxX=9%
16‘ I;‘)(’_né6:=V5Y2\O(: ;.‘hen mAJKL: O ML 3¥L ol 'a'a LS ML LOQP 'anﬂ‘(S)

Mmc yML = S24SL= (oH
17. IfKL=13,thenML= D M= \> JK=__\>




ABCD is a square. Find the unknown measure(s). Sy vl =B

- 2%
18. If AB=5x+1and BC = 8x - 11, then \24—%(
Ag= 2\ pc=_t\ cb=_1\  AD= 2\
- 5(WF) A
8
=2\ 9
E
19. TIf ms3=sx+2, then x= )\ 1146
gx + L =490
Ty = ¥% 10
20. Tf AE=19,then DB=_3% L

21, ma = ato )

. LY




ABCD is an isosceles trapezoid with median EF. Find the unknown measure(sf;
B

22. Tf AB=11and DC= 23, " >
A N\

then EF=_\ 1

median= \oase + oase |\ 413 34 . F
) C

1 - L 5

D
23. If AD=3x-2and BC=x+6, thenAD=_10
FX-1= XAV 34y

Ly =%
ik

24. Tf AE=7,thenED=__I
25. Tf ms6=43,then msa = 43", mzs =43’ and me2 = A5 7

(ovvesponding
ang\es
C

30 - 42-43

ABCD is a kite. Find the unknown measure.
22 /

26 TIf AB=8x-2,and AD=6x+4, then AD=

AN
&9 B + 4
gx -z = bx 0(3)+Y
4=
XD
27 Tf msCED=7x+6,thenx=_\2
’7X+\D:q0

IxX= g4
A

X=\L
28  If msABC =12x+10 and mz4DC =15x~-14 , then mz4DC = lOLa°

|2 H?\: ;f*"“‘ ADC = 15(§) " 1%
24= 3X e T,
g =% \CL

29, Tf ms/BAC=24", then mspac= _ 24°




